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B. A. (GENERAL) ECONOMICS  
(BAG) 

Term-End Examination 
December, 2024 

BECE-146 : INDIAN ECONOMY–II 

 Time : 3 Hours    Maximum Marks : 100 

Note : Answer questions from all the Sections as per 

instructions given.  

Section–A 

Note : Answer any two questions from this Section 

in about 600 words each. 2×20=40 

1. What do you mean by high-powered money ? 
When does the RBI resort to applying the 
quantitative measures ? How does this differ 

from the qualitative measures adopted by the 
RBI ? 
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2. Explain the various initiatives taken by the 

government to promote the services sector in 

India. 

3. What are the objectives of agricultural policy ? 

Explain the recent agricultural policy reforms 

in India. 

4. Explain the issues and challenges faced by 

SSIs. What policy suggestions would you like to 

suggest to meet the challenges ? 

Section–B 

Note : Attempt any four questions from this Section 

in about 350 words each. 4×12=48 

5. Identify the instruments of fiscal policy in 

India. Explain them. 
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6. Differentiate between ‘bilateralism’ and 

‘multilateralism’. How do bilateralism promote 

regional trade in India ? 

7. State the functions of Competition Commission 

of India (CCI). What challenges are being faced 

by CCI ? 

8. Briefly discuss the features of Agrarian 

Relations. 

9. Critically examine ‘National Policy for Farmers’ 

(2007). 

10. What are the determinants of Capital-Output 

Ratio (COR) ? What does its increasing trend 

signify ? 

11. Write a note on informal services sector in 

India. 
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Section–C 

12. Write short notes on any two of the following in 

about 100-150 words each : 2×6=12 

(a) Foreign Capital Flows 

(b) Sharecropping 

(c) MSME Sector 

(d) Fiscal Deficit 
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      BECE–146 

ch- ,- (lkekU;) vFkZ'kkL=k  

(ch- ,- th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-lh-bZ--146 % Hkkjrh; vFkZO;oLFkk&II 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % lHkh Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

Hkkx&d 

uk sV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj fyf[k,A 
'kCn&lhek 600 'kCn izR;sdA 2×20æ40 

1- mPp&'kfDr eqnzk ls vkidk D;k vfHkizk; gS \ Hkkjrh; 

fjtoZ cSad ifjek.kkRed mik; fdl le; viukrk  

gS \ ;s fjtoZ cSad }kjk viuk, x, xq.kkRed mik;ksa 

ls fdl izdkj fHkUu gksrs gSa \ 
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2- Hkkjr esa lsok {ks=k dks c<+kok nsus ds fy, ljdkj }kjk 

dh xbZ fofHkUu igyksa dh O;k[;k dhft,A 

3- Ñf"k uhfr ds mís'; D;k gSa \ Hkkjr esa gky esa gq, 

Ñf"k uhfr lq/kjksa dh O;k[;k dhft,A 

4- ,l- ,l- vkbZ- (SSIs) ds lkeus vkus okys eqíksa vkSj 

pqukSfr;ksa dh O;k[;k dhft,A bu pqukSfr;ksa ls fuiVus 

ds fy, vki D;k uhfrxr lq>ko nsuk pkgsaxs \ 

Hkkx&[k 

uk sV % bl Hkkx ls fdUgha p kj iz'uksa ds mÙkj nhft,A 

'kCn&lhek 350 'kCn izR;sdA 4×12æ48 

5- Hkkjr eas jktdks"kh; uhfr ds midj.kksa dh igpku 

dhft,A mUgsa le>kb,A 
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6- ^f}i{kh;okn* vkSj ^cgqi{kh;okn* ds chp varj 

crkb,A Hkkjr esa f}i{kh;okn {ks=kh; O;kikj dks dSls 

c<+kok nsrk gS \  

7- Hkkjrh; izfrLi/kZ vk;ksx (lh- lh- vkbZ-) ds dk;Z 

crkb,A lh- lh- vkbZ- dks fdu pqukSfr;ksa dk lekuk 

djuk iM+ jgk gS \ 

8- Ñf"k laca/ksa dh fo'ks"krkvksa ij la{ksi esa ppkZ  

dhft,A 

9- ^fdlkuksa ds fy, jk"Vªh; uhfr* (2007) dk 

vkykspukRed ijh{k.k dhft,A 

10- iw¡th&mRiknu vuqikr (lh- vks- vkj-) ds fu/kZjd D;k 

gSa \ bldk c<+rk pyu D;k n'kkZrk gS \ 

11- Hkkjr esa vukSipkfjd lsok {ks=k ij fVIi.kh  

fyf[k,A 
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Hkkx&x 

12- fuEufyf[kr esa ls fdUgha nks ij 100&150 'kCnksa esa 

laf{kIr fVIif.k;k¡ fyf[k, % 2×6æ12 

(d)  fons'kh iw¡th izokg 

([k)  cVkbZnkjh (Sharecropping) 

(x)  ,e- ,l- ,e- bZ- {ks=k 

(?k)  jktdks"kh; ?kkVk (Fiscal Deficit) 

 

 

 

 

 

 

 

 

× × × × × × × 
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